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“rehted Mean
2 jollowing table gives the quantiry of g

" T8 =1
lferent commodities purthl-ll‘d at vanous pn

Pie @ | ~———— 7 |
R Quannty Purchased
F;_;w———— (in kg P
10
100 .
40 k
2 5

prices.
[Ans: T 33.50]
tics
s gtudent obtained B2 marks in con 86 i tancy. 90 marks in mathema
| god 70 marks in English. Calculate Weighted Mean of the marks if weights given 1o thes? 31
e 3,5, 3 and 1 respectively [Ans: 84.67 mar

Problems

| quﬂ.nﬁw Furth.-l‘d s 'H'Eishu. ﬁM “ilhrﬂi Arthmetic ._.-vrrlﬂ' l'.lr the

j Lo

the Arithmetic Mean of the data given below: viev st I':’;j. A J:[ ™
jj pocket mancy H*hwi 0 [ 20 | 30 | 40 | 50 3,.ﬂ,! ‘
i l;-_. |
| 15 | 35 | e0 | 85 | 90 (Ans: €37 App-] |
petermine the Arithmetic Mean of the following data g
. Morethan | 5 | 10 | 15 | 20 | 25 )
No. of students: | 25 | 20 | 121 9 | § [Ans: 16.7 marks]
g Calculate the Arithmetic Mean of the following frequency distmibution:
Marks No. of students |
Less than 10 4 I
10-20 6
20-30 20
3040 10
40-50 7
More than 50 3 | [Ans: 28.8 marks)
slate the Mean of the following data by converting them into grouped dama: ’ A Al
/ : 3 — p v o \
| Midvalue: | 22 24 | 26 | 4 1 o 12 ] m pk‘
| Frequency: 15 | 17 | 2 | 2 | 13 | [Ans: 115.&4]

1 In a ericket match the average runs made by 11 players were calculated as 40. Later on It was
discovered that the score of a player who had actually made 11 runs was read as 22, Find the
eomect average [Ans: 39 runs)
2 Mean marks obtained by a student in his five subjects are 78. He has secured B0 marks in
eonomics, K5 in mathemarics, 70 in commerce, and 75 in accountancy. Find the marks he has

Secured in English,
: - [Ans: BO marks]
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Daily wages () 20 30 40 50 60 70
: No. of workers: 8 12 X 10 6 4
i-_ Find the missing frequency X.
25. Arithmetic Mean of the following data is 25.4.
X: 10-20 20-30 30-40 40-50 50-60
Frequency: 20 15 Y 3 2

Find the missing frequency Y.

5 kg. Find the combined Mean weight of boys and girls taken together.

7_\_\ [Ans: 10]
ﬁj‘me Mean weight of 50 boys in a class is 70 kg, and the Mean weight of 100 girls in that class is
5
.

[Ans: 60 kgl
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